82 AirDam Installation Instructions

1. Loosely bolt ArDam assembly together the left and right sides will be behind the front

2. use provided 3/8" x 1" button head bolts with washers.
*NOTE* The bolts need to be tight enough to hold the assembly together but lose enough
they can still slide in the slofs.

3. Place whole assembly on to trailer. Make sure the angles are sitting on top of the the top rail.
*NOTE* You will either need to clamp the angles to the top of the front rail or have another person

hold if.
4.  Mark and drill the 7 holes that hold the airdam to the top rail. 1in each side and 5 in the front piece.
5. Bolt to the top rail with provided 3/8" x 2 1/2" button head bolts and washers and nylock nuts.
6. Tighten all bolts holding the 3 pieces together.
Flat Wos”her on both sides
lfem # Description Qty. of 2 1/2" bolfs

] 3/8" x 1" Button head bolts 12

2 3/8"x 2 1/2" Button head bolts | 7
3 3/8" Flat Washers 26
4 3/8" Nylock nuts 7

Make sure angles are against front rail.



	Sheet1
	Drawing View1


